
 

ELECTROLUX HOME PRODUCTS PTY LTD 
ABN 51 004 762 341 

 Issue:  2 
 Technical Publication Nº  CE335 Date:  3/10 

WEB SITE ADDRESS: www.partnship.com.au 

WESTINGHOUSE 
 

ELECTRIC 
RECTANGULAR & SQUARE METAL, 

COOKTOPS 

MODELS: 
PHP255S 
PNC 949163083 

 PHP255W 
PNC 949163082 

 
 Copyright 2010  ELECTROLUX HOME PRODUCTS PTY LTD  Technical Services 



 

First Built Dates: 

PHP255S 5/08 
PHP255W 5/08 

 

Page 2  CE335 



Page 3  CE335 

CONTENTS PAGE Nº 

VARIANT CHANGE SUMMARY 2 
CONTENTS 3 
COOKTOP ASSEMBLY 4 - 5 
CIRCUIT DIAGRAM 6 

 



  
 MODELS: PHP255S PHN255W EX. VIEW DRAWING 4484 
   COOKTOP ASSEMBLY 
   

Page 4  CE335 



 
 

 
 

ITEM PART Nº DESCRIPTION  Ex. 4484 S W 

1 0602 002 398 HOB C/TOP - SCREENED 1  
 0602 002 393 HOB C/TOP - SCREENED    1 
2 0122 004 564 ELEMENT EGO 2000W 180DIA (HI) 1 1 
3 0122 004 563 ELEMENT EGO 1500W 145DIA (HI) 3 3 
4 305 4701 06 KNOB SILVER W/HOUSE ELEC (INC ITEM 5) 4  
 305 4701 05 KNOB WHITE W/HOUSE ELEC (INC ITEM 5)  4 
5 29143982 CLIP KNOB (PT OF ITEM 4) 4 4 
6 0065 009 254 NUT METRIC M12 X 1.00 4 4 
7 0756 001 023 WASHER NYLON EGO 7POS SWITCH 4 4 
8 0208 003 368 SEAL HOB 2320 MM BLACK EL 1 1 
9 0609 100 295 LIGHT INDICATOR RED INC LENS 1 1 

10 0005 001 166 CLAMP PAN 180MM ELUX EGO 1 1 
11 0005 001 167 CLAMP PAN 145MM ELUX EGO 3 3 
12 0030 024 111 BRACKET ANTI-ROTATE SOLID C/T 2 2 
13 0706 006 031 WASHER SPRING 1/4 S/ST 4 4 
14 0755 001 018 NUT HEX M6 ST/NI PLATED 8 8 
15 0271 001 211 SPACER TUBE ALUMINIUM 6MM 8 8 
16 0712 003 037 CABLE TIE 4” 3 3 
17 0173 100 127 WIRE HARNESS 7POS RR 150MM GRN 1 1 
18 0173 100 126 WIRE HARNESS 7POS RL 400MM YEL 1 1 
19 0173 100 125 WIRE HARNESS 7POS FL 400MM RED 1 1 
20 0173 100 124 WIRE HARNESS 7POS FR 150MM WHT 1 1 
21 0534 001 707 SWITCH GANG 7 POSITION EGO 1 1 
22 0003 012 588 BAR CONNECTOR 25A ELEC COOKTOP 1 1 
23 0701 002 116 SCREW #10 X 3/4 PAN PHIL ZC AB 1 1 
24 0700 027 013 SCREW 3/16BSW X 1' PAN #2PH NI 1 1 
25 0706 009 002 WASHER S/P INT 3/16 Zc 2 2 
26 0705 002 053 NUT HEX 3/16 BSW STEEL NI 2 2 
27 0074 005 345 BOX BURNER SQR GAS/ELEC CORAL 1 1 
28 0215 002 075 CABLE SERVICE CORD (20A) 1 1 
29 0547 001 111 GROMMET CORD GRIP H3341 1 1 
30 0706 009 004 WASHER S/P INT 1/4 4 4 
31 0005 001 168 CLAMP BURNER BOX CORAL/GAIL 4 4 
32 46667 SCREW 3/4X8 PAN Z/P (LP HP AER 4 4 
N.I. *0609 001 339 KIT BURNER BOX CLAMPS 1 1 

NOTE: * KIT ASSEMBLY NUMBER INCLUDES ITEM 31 AND 32. 

Page 5  CE335 



Page 6  CE335 

  MODELS: PHP255S PHN255W CIRCUIT DIAGRAM 
   0165 002 288 
   

WARNING 
IT IS ILLEGAL FOR PERSONS OTHER THAN LICENSED ELECTRICAL MECHANICS OR PERSONS 
AUTHORISED BY LEGISLATION TO WORK ON THE FIXED WIRING OF ANY ELECTRICAL 
INSTALLATION. PENALTIES FOR CONVICTION ARE SEVERE. 

IMPORTANT SAFETY NOTICE 
This diagram has been prepared for use by electrically qualified service technicians. Electrolux 
cannot be held responsible for the interpretation of its service publications nor for any injury or 
damage that may occur in connection with their use. 


